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1. Fill in the following blanks with the correct answers.
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(2) Find the range of x that satisfies the following inequality

31 7
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(3) When x2 —2gx+a%—b? is factorized, it is |:|

(4) The largest is among 3/55 4/5 and (/2_, and the smallest is

among 3, 2log;5 and 3log,5.

(5) When ¢ and [ are the solutions of the quadratic equation x? —3x+ p=0,

then o+ = . Moreover, when ¢+ ,32 =1, then the constant

r=[ @]

(6) How many six digit numbers can be made by using 1,2,2,3,3,3 ?

The answer is I:l

,28 1s an arithmetic progression.

() =5,=2,1,:
The sum of the arithmetic progression (-5)+(-2)+1+

(8) In a space with a coordinate system, when three points A(l ,3,-2)

B (2,x,1) and C(y,1,4) are located on a straight line, then x=,

v=L2]

1
(9) Let f(x) =§x3 —2x* +4x+1.
(i) The derivative of f(x), f"(x)=[ .
(ii) The number of real solutions of the equation f(x)=0 is I:I

(iii) The definite integral of f(x), J-_llf(x) dx = |:|

M-1



2. Atriangle ABC on a plane satisfies AB=8, BC=10and cosZABC :% .

Let M denote the midpoint of side BC.

Fill in the following blanks with the correct numbers.

mac=[___].
(@ sinZABC = |.
(3) /BAC=[ ]

(4) The radius of the circumscribed circle of AABC:|:| .

— —
(5) The scalar product of two vectors AB - AM=|:| .

— —>
(6) The scalar product of two vectors MA - MBZl:| .

3. On the plane xy, there is the parabola y=ax® +bx+c¢ which passes through the
three points A(1,0), B(3,0) and C(4,3) .

Fill in the following blanks with the correct answers.

1 a :| @®

b= @ ], [ ® ]

(2) Let line / be a line which passes through two C

points A and C.

The equation of line / is y :|:|.

(3) Let line m be a line which passes through A B

the point B and perpendicular to line /.

The equation of line m is y =|:|.
(4) Let S be the area of the region bounded by

the line /, the line m and the x-axis,

then S :I:l-



